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Chapter 1

Accounting Equation

Nature of Accounting

An understanding of the principles of book - keeping and accounting is essential for
anyone Who is interested in a successful career in business. The purpose of bookkeeping
and accounting is to provide information concerning the financial affairs of a business.
This information is needed by owners, managers, creditors, and Governmental agencies.

Accounting: An information system that measures, processes, and communicates financial
information about an identifiable economic entity

Bookkeeping: The process of recording financial transactions and keeping financial
records.

Basic Elements of Accounting Equation

The financial condition or position of a business enterprise is represented by the rela-
tionship of assets to liabilities and Capital
Assets

Assets = Liabilities + Capital

Economic resources owned by a business that are expected to benefit future operations.
Liabilities

Present obligations of a business to pay cash, transfer assets, or provide services to
other entities in the future.
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Capital

The residual interest in the assets of a business entity that remains after deducting the
entity’s liabilities . Also called residual equity .

These three basic elements are connected by a fundamental relationship called the
accounting equation.This equation expresses the equality of the assets on one side
with the claims of the creditors and owners on the other side:

REMEMBER
The accounting equation of
Assets = Liabilities + Capital

Should Balance after every transaction.

Revenues:

The increases in Capital from selling goods, rendering services, or performing other
business activities.

EXxpenses:

Decreases in Capital resulting from the cost of goods and services used up in course of
earning revenues.

Owner’s investments:

The assets that the owner puts into the business .

Owner’s withdrawals:

The assets that the owner takes out of the business .

These elements comprise the basic accounting equation, which, in expanded from, is

as follows:

Assets = Liabilities + Capital + Revenues — Expenses+ Owner’s investments — Owner’s with-

drawals

During the month of January, Mr. Nader’ s Institute
Invested $5,000 to open his law practice
Bought office supplies on account, $500.
Received $2,000 in fees earned during the month.
Paid $100 on the account for the office supplies.
Withdrew $500 for personal use.
These transactions should be analyzed and recorded as follows:
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Assets = Liabilities + Capital
Cash Capital
i+ $5,000 = +$ 5,000
Supplies  Accounts Payable
+ $500 = + 8500

Cash Fees Income
+$2,000 = +$2,000

Cash Accounts payable
- $100 = -$100

Cash Capital
-$500 = -$500

Notice that for every transaction, two entries are made. After every transaction, the
accounting equation remains balanced.

Exercise 1

Kl The accounting equation is ............. = ........... o
Items owned by a business that have monetary value are ............
......... is the interest of the owners in a business.

Money owed to an outsideris a (n) .............

I3 The difference between assets and liabilities is ..............

An investment in the business increases............. and ...............

To purchase on account is to create a................



Exercise 2

Tell whether each of the following accounts is an asset , a liability , a- revenue a capital

, an expense, or none of these .

Accounts payable Salaries expense

Service fees income Machinery
Prepaid insurance Notes payable
Cash Supplies

Telephone expense
Owner’s capital
Rent expense

Accounts receivable

Unearned service fees
Withdrawals

Equipment Retained earning
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Cahapter 2

The Double - Entry system DEBITS AND CREDITS

The Account

An account may be defined as a record of the increases, decreases ,and balances in an
individual item of asset ,liability, capital , revenue, or expense.

The most simple form of the account is known as the ”’T account because it resembles
the letter “T”. The account has three parts:

the name of the account and the account number
the debit side (left side),and
the credit side (right side).

The increases are entered on one side, the decreases on the other. The balance (the
excess of the total of one side over the total of the other) is inserted near the last figure
on the side with the larger amount.

Debits and credits

When an amount is entered on the left side of an account ,it is a debit ,and the account
is said to be debited. When an amount is entered on the right side ,it is a credit, and the
account is said to be credited. The abbreviations for debit and credit are Dr. and Cr.
,Jrespectively.

Whether an increase in a given item is credited or debited depends on the category of
the item. By convention, asset and expense increases are recorded as debits, whereas
Liability, capital, and revenue increases are recorded as credits. Asset and expenses
decreases are recorded as credit, whereas Liability, capital, and income decreases are
recorded as debits; the following tables summarize the rule.

Assets and Expenses Liabilities, capital and Revenues
Dr. | Cr. Dr. | Cr.
+ | . ] | +
(Increases) | (Decreases) (Decreases) | (Increases)

An account has a debit balance when the sum of its debits exceeds The sum of its credits;
it has a credit balance when the sum of the credits is the greater . The rules of debit and
credit are designed so that every transaction is recorded by equal amounts of debits and
credits. The foundation of this equality is the accounting equation. This system is often
called double _ entry accounting.
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Important!

For every journal entry, debits must equal credits.

General Journal

In accounting system, each business transaction is initially recorded in a book known
as journal. The journal is sometimes called the book of original entry since it is an ac-
counting record in which transactions are first recorded.

Many different types of journals may be used by businesses. The number and types of
journals needed by a specific business enterprise is based on the nature of operations
and the volume of transactions in the enterprise. The simple type of journal, which has
only two money columns, is called a general journal and it may be used for all types of
transactions. A piece of a page from a general journal is shown below.

General Journal

Date Amount
No. Description LP
M D Dr. Cr.
1 July Cash 1 10.000
Capital 45 10.000
To record investment

The Ledger

The complete set of accounts for a business entry is called a ledger. It is The "reference
book" of the accounting system and is used to classify and Summarize-transactions and
to prepare data for financial statements. It is also a valuable source of information for
managerial purposes, giving, for example, the amount of sales for the period or the cash
balance at the end of the period.

Trial Balance

A trial balance is a two - column table listing the names and balances of all the accounts
in the order in which they appear in the ledger. Debit balances are listed in the left -
hand column and credit balances in the righthand column. The purpose of preparing a
trial balance is, in fact, to ensure that the totals of the accounts with debit balances are
equal to the totals of the accounts with credit balances. Therefore, the totals for the two
columns of the trial balance should agree. Trial balance is a base to prepare financial
statements.



B o cus

Exercise 1

To classify and summarize a single item of an account group, we use a form called

The left side of the account is known as the- - - - - - .while the right side of the
account is known as the- - - - - - - .

Expenses are debited because they decrease- - - - - - - .

The schedule showing the balance of each account at the end of the period is known

Exercise 2

Indicate whether the following increases and decreases represent a debit or credit
for each particular account.

(a)Capital is increased

(b) Cash is decreased

(c) Accounts Payable is increased

(d) Rent expense is increased

(e) Equipment is increased

(f) Fees income is increased

(g)Capital is decreased through drawing

Exercise 3

Rearrange the following list of accounts and produce a trial balance.

Accounts Payable $9.000 General expense 1.000
Accounts Receivable 14.000 Notes Payable 11.000
Capital 32.000 Rent expense 5.000
Cash 20.000 Salaries expense 8.000
Drawing 4.000 Supplies 6.000
Equipment 18.000 Supplies expense 2.000
Fees income 26.000

VoV




Exercise 4

Presented below are the accounts balances of Tehran Institute at the end of December

2018 Prepare a trial balance.

Accounts payable $ 7.000 Salaries expense $5.000
Service fees income  15.000 Machinery 10.000
Prepaid insurance 2.000 Notes payable 2.000
Cash 6.000 Supplies 500
Telephone expense  2.500 Accounts receivable 12.000
Owner’s capital ? Unearned service fees 1.000
Rent expense 1.800 Withdrawals 1.200
Keywords
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Chapter 3

The main part of financial reporting is a set of accounting reports called financial state-
ments. Financial statements summarize in a few pages the financial resources, obliga-
tions, profitability, and cash flows of a business. A complete set of financial statements
includes balance sheet, the income statement, the statement of owner’s equity, and the
statement of cash flows. Several pages of notes, containing additional information, are
also accompanied to the statements.

Income statement

An income statement shows the result of operations of a business for a given period of
time. To determine net income for the period, a business must measure revenues earned
and expenses incurred during that period. Thus, it may be stated that net income equals
revenues minus expenses. In the case that expenses exceed revenues, the result would
be a net loss.

Net income (loss) = revenues — expenses

The following income statement shows the net income from the operation of IRAN
Servicing Institute for the month of July:

IRAN Servicing Institute
Income Statement
For the month ended July 31,2018

Revenues:
Fees earned 3.500
Expenses:

Rent $720

Salaries 450

Utilities 250

Cleaning 180

Telephone 100

Total expenses (1.700)
Net income 1.800
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Balance sheet
The financial statement that shows the assets, liabilities, and owners equity of a business at

a point in time . Also called a statement of financial position .

IRAN Servicing Institute
Balance Sheet
July 31, 2018

Assets:

Cash $10.500
Accounts receivable 2.000

Equipment 3.000

Total assets 15.500 Total

liabilities & Owners equity
Notes payable 700

Accounts payable 3.000

Capital 11.800

15.500

The three general classes of the items appear on the balance sheet are assets, liabilities,

and owners equity. These are the key elements of every balance sheet. However, on the

balance sheet of corporations, they are usually divided into several sub classifications

as below:

Current assets Current liabilities
] Liabilities L
Long - term investments Long - term liabilities
Assets | Tangible fixed assets Capital stock
Intangible assets Owners equity . .
Retained earnings

Other assets

Exercise 1

KN Another term for an accounting period isan ......

The statement that shows net income for the period is known as the

statement.

Two groups of items that make up the income statement are

i2 Assets mustequal ...................

[ Expense and income must be matched in the same .................
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Exercise 2

Presented below are the accounts balances of Tehran Institute at the end of December 2018
Prepare an Income Statement and Balance Sheet

Accounts payable $7.000 Salaries expense $5.000
Service fees income 15.000 Machinery 10.000
Prepaid insurance 2.000 Notes payable 2.000
Cash 6.000 Supplies 500
Telephone expense 2.500 Accounts receivable 12.000
Owner’s capital ? Unearned service fees 1.000
Rent expense 1.800 Withdrawals 1.200
Keywords
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Chaptar 4

o
Merchandising Enterprise

There are three types of business enterprises that make up the business society

Servicing: Companies and individuals that yield a service to consumer, such as
lawyers, physician, airlines and etc.

Manufacturing: Companies that convert raw materials into finished Products,
such as housing construction companies and lumber mills.

Merchandising: Companies that engage in buying and selling finished goods
such as department stores and retail establishment.

This chapter examines the third type, merchandising companies.

Merchandising (trading) businesses are those whose income derives largely from buy-
ing and selling goods rather than from rendering services.

Inventory represents the value of the accounting period. The beginning balance is the
same amount as the ending balance of the previous period, so unsold merchandising
must be counted and priced and its total recorded in the ledger as Ending Inventory. The
amount of this inventory is shown as an asset in the balance sheet.

Purchases

When the periodic inventory system is used to account for inventory, purchases of mer-
chandise Inventory account but rather is debited to separate account known as purchas-
es. This account includes only merchandise bought for resale. Other types of purchases
(machinery, furniture, trucks, etc.) that are to be used in the business, rather than sold,
are debited to the particular asset account involved and appear in the balance sheet.
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INote
The amount of goods sold during the period is shown as cost
of goods sold in the income statement.

Sales Revenue

Revenue includes gross income from the sale of products or services. It may be desig-
nated as sales, income from fees, and so on, to indicate gross income. The gross amount
is reduced by sales returns and by sales discounts to arrive at net sales.

Cost of Goods Sold

The inventory of a merchandising business consists of goods on hand at the end of
accounting period. The beginning inventory appears in the income statement and is
added to purchase to arrive at the cost of goods available for sale. Ending inventory is
deducted from the cost of goods available for sale to arrive at cost of goods sold

Beginning Inventory of Merchandise

+

Purchases of Merchandise

Ending Inventory of Merchandise

Cost of Goods Sold

\j

Operating expenses

Operating expenses includes all expenses or resources consumed in obtaining revenue.
Operating expenses are further divided into two groups. Selling expenses are related to
the promotion and sale of the company’s product or service. Generally, one individual
is held accountable for this function, and his or her performance is measured by the re-
sults in increasing sales and maintaining selling expenses at an established level. Gen-
eral and administrative expenses are those related to the overall activities of business,
such as the salaries of president and other officers.



ABC Company
Income Statement
For the Year Ended December 31, 19xx

Net Sales

Less: Cost of Goods Sold

Gross Profit

Less: Operating Expenses

Selling Expenses

General and Administrative Expenses
Total Operating Expenses

Income from Operations

Other Revenues and Expenses:
Interest Revenue

Less: Interest Expense

Excess of Other Expenses over Other Revenues
Net Income

289656
(181260)
108396
54780
34504
(89284)
19112
1400
(2631)
a231)
17881
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Exercise 1

Merchandise Inventory (ending) appears as an ............... inthe ..................
(financial statement).

The only account figure that appears on both the income statement and balance sheet
1S.iiiiinnnnn

The beginning balance of Merchandise Inventory would be the same amount as the

Exercise 2 . I

The Mehdi’s Company purchased merchandise costing $150.000. What is the cost of
goods sold under each assumption below?

Beginning Inventory Ending Inventory
100.000 60.000
75.000 50.000
50.000 30.000

0 10.000

Exercise 3 +

Compute the cost of goods sold from the following information: Beginning Inventory,

$30.000; Purchases, $70.000; Purchases Returns, $3.000; Ending Inventory, $34.000.

Exercise 4

Prepare an income statement based on the following data.
(a) Merchandise Inventory, Jan. 1, 2000, $30.000

(b) Merchandise Inventory, Dec. 31, 2000, $24.000

(¢) Purchases, $66.000

(d) Sales Income, $103.000

(e) Purchase Returns, $2.000

(f) Total expenses, $27.900

V0



Exercise 5

Presented below are some of the accounts balances of XYZ Company at the end of
December 2018 . Fill in the blank with this information
In 000  dollars

Sales revenue 98
Purchases 32
Freight - in 2.5
Sales returns 3.5
Sales discounts 4.1
Purchases discounts 1.3
Beginning inventory 8
Ending inventory 11
Sellers wages 15
Store rents 10
Depreciation 6
General expenses 7
Delivery charges 3
Other expenses 1.5
Ef Net sales is ............. dollars

cost of goods purchased is .............dollars

cost of goods sold is ............. dollars

operating expenses is.............dollars

I3 Gross profitis ............. dollars

fZnet operating income is.............dollars
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Chapter 5
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Manufacturing Enterprises

Manufacturing companies purchase raw materials and convert these materials into fin-
ished goods through the process of production. The conversion from raw materials to
finished goods results from utilizing a combination of labor and machinery. Thus, man-
ufacturing costs are often divided into three broad categories: direct materials, direct
labor, and manufacturing overhead.

Direct materials are raw materials and component parts used in production whose
costs are directly traceable to the products manufactured.

Direct labors are wages and other payroll costs of employees whose efforts are
directly traceable to the products they manufacture, either hand or with machinery.

Manufacturing overhead is a catchall classification, which includes all manufac-
turing costs other than the cost of direct materials and direct labor. Examples in-
clude factory utilities, supervisor’s salaries, equipment repairs, and depreciation of
machinery.

Sum of the first two items (i. e., direct material and direct labor) is called prime costs.
Conversion costs are costs of converting raw materials into finished product and in-
clude direct labor and manufacturing overhead.

Manufacturers often maintain a perpetual inventory system for three different types of
inventories due to different physical forms of products as they progress from its raw to
finished state. Inventory accounts that manufacturers maintain are:

Raw materials inventories are materials on hand and available for use in the man-
ufacturing process.

Work - in - process inventories are goods completed partially upon which manufac-
turing activities have been started but not yet completed.

Finished goods inventories are completed products that are not sold until the end of
the period. So, they are available for sale to customers.
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All three of these inventory accounts are classified on the balance sheet as current assets
in the order of their position in the manufacturing process.

Beginning Inventory of Finished Goods

+
Cost of Goods Manufactured

Ending Inventory of Finished Goods

Cost of Goods Sold

SONY Manufacturing Inc.
Schedule of the Cost of Goods Sold
For the Year Then Ended December 31, 2018

Raw materials beginning inventory $2.000
Raw materials purchased 13.000
Materials available for use 15000
Less : Ending materials inventory 3.000
Direct materials used 12.000
Direct labor 13.000
Factory overhead 15.000
Total manufacturing cost $ 40.000
Add: beginning work _ in _ process inventory 5.000
Goods available for manufacturing 45.000
Less: ending work _ in _ process inventory 3.000
Cost of finished goods manufactured 42.000
Add: beginning finished goods inventory 8.000
Cost of finished goods available for sale 50.000
Less: ending finished goods inventory 5.000
Cost of finished goods sold $ 45.000




Exercise 1 :

I Primme COSES = +vvvvvvreee b oevenneeens

CONVETSION COSES = «-vvevreree A wreemeennn

Manufacturing COSES = cevvvvrmens fooerernenenn e

All three of inventory accounts are classified on the balance sheet as.......... Assets.
Exercise 2

Fill in the blanks with the following information.
In the X company prime costs equal with conversion costs, which one of them is equal
to 21000. Overhead application rate is 75% of the direct labor.

Direct material? ................ Direct labor? .............
Manufacturing overhead? ........... Product costs?........cccceue..
Exercise 3

Materials purchased are $ 200, Raw materials beginning inventory is $ 25, and end-
ing materials inventory is $ 40. Assuming that Conversion costs are $ 500, what is the
amount of materials available for use?

Using the data for question 1, what is the amount of direct materials used?

Using the data for question 1, what is the amount of manufacturing cost?

Keywords

overhead Jiye  conversion Jbeg
utilizing 65,54, combination 5
labor syeiws  direct materials e b
finished goods oas axls YIS component el 52!
catchall osSLss  wage Speins
payroll asi> o employees sl
effort 2Dl traceable e
customer G2 perpetual s
work-in-process colo b, o 5 partially S
prime costs aJgl s factory a5




Chpter 6

property , Plant and Equipment

Tangible assets that are relatively permanent and are needed for the production or sale
of goods or services are termed property, plant, and equipment (PP&E), or fixed assets.
These assets are not held for sale in the ordinary course of business. The broad group is
usually separated into classes according to the physical characteristics of the items, for
example land, buildings, machinery and equipment.

The cost of PP&E includes all expenditures necessary to put the asset into position and
make it ready for use.

Intangible assets: Long - term assets that have no physical substance but have a value
based on rights or advantages accruing to the owner.

Depreciation: The portion of the cost of a tangible long_term asset allocated to any one
accounting period. Also called depreciation expense .

Amortization: The periodic allocation of the cost of an intangible asset to the periods
it benefits.

Depletion: The exhaustion of a natural resource through mining, cutting, pumping, or
other extraction, and the way in which the cost is allocated.
To determine depreciation expense for a fixed asset, we need the following information:

Cost: The total purchase price of the item, including its initial cost, transportation,
installation and any other expense to make it ready for use.

Estimated Useful Life: The projected life during which the business expects the
asset to function. This may be expressed in years, miles, units of production, or any
other measure appropriate.

Residual Value: Also called scrap or salvage value, residual value is the estimated value
of the asset when it is fully depreciated. When subtracted from the cost of the asset, it
produces the “depreciable cost.”

There is one exception to the above considerations: land. This fixed asset is nondepreciable
, itis usually carried on the books permanently at cost.

AR



Depreciation Methods

The depreciable amount of a fixed asset - that is, cost minus scrap value - may be
written off in different ways. The amount may be spread evenly over the years, as in the
straight _ line method, or may be accelerated. Two accelerated methods are the double _
declining balance and the sum _ of _ the _ years - digits method. These methods provide
for larger amounts of depreciation in the earlier years. Repairs, on the other hand, are
generally lower in earlier years, so the total cost of depreciation and repairs should be
about the same each year. The units - of _ production method bases depreciation each
period on the amount of output

Straight - Line (SL)

The straight _ line method is the simplest and most widely used depreciation method.
Under this method, an equal portion of the cost of the asset is allocated to each period
of use. The periodic charge is expressed as:

Cost — scrap value

Annual Depreciation Charge = — -
Useful life (in years)

For example, if the cost of a machine is $17.000, its scrap value is $2.000 and its esti-
mated useful life is 5 years, depreciation can be calculated as follows:

$17.000 - $2.000 — ¢3 g0 per year
5 years

The entry to record the depreciation would be:

Depreciation Expense, Machinery 3.000
Accumulated Depreciation, Machinery 3.000

Declining — balance method: An accelerated method of depreciation in which depreci-
ation is computed by applying a fixed rate to the carrying value (the declining balance)
of a tangible long - lived asset.

Double — declining - balance method: An accelerated method of depreciation in which
a fixed rate equal to twice the straight _ line percentage is applied to the carrying value
of a tangible long - term asset.
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Units of Production (UOP)
Units of production depreciation are based on an assets usage. This can be expressed in:
Units produced
Hours consumed
Mileage driven
This method is used when an assets usage varies from year to year.
This depreciation method accurately reflects the depreciation expense for the asset because
it is based on the number of units produced in each period. Depreciation per unit is
computed in two steps:

Cost of asset — scrap value

Depreciation per unit = : :
Total estimated units of output

Annual depreciation expense = Units produced x unit depreciation

Sum _ of _ the_ Years’ _ Digits (SYD)

To determine depreciation expense under SYD, the asset’s cost (minus scrap value)
is multiplied by a fraction. The numerator of the fraction is the years remaining in the
asset’s life, but in reverse order. It changes each year. The denominator is the sum of all
the digits making up the life of the asset. It remains constant.

For example, if a machine costs $17,000, has a scrap value of $2,000, and an estimated
life of 5 years. The depreciable amount is

$17,000 — $2,000 = $15,000

To find the fraction of this amount to be written off each year, proceed as follows: the
numerator of the fraction for the first year would be 5 (years in reverse). The denominator
of the fraction would be 15, the sum of the year’s digits

(G+4+3+2+1=15)

To determine the depreciation for the first year, multiply $15,000 by (5/15). The current
year depreciation is $5,000.



Exercise 1

The market value of a fixed asset at the end of its service is known asa ...........
The uniform distribution of depreciation over the life of the asset is known as the

then rapidly declines, is known as the ............. method.

[ When income produced by an asset is the same each year, the recommended method
of depreciation is .................

When use rather than time is the key factor............. is the preferred method of
depreciation.

Exercise 2

Behzad Company acquired an asset on January 1, 2018, at a cost of $38,000, with
an estimated useful life of 8 years and a salvage value of $2,000. What is the annual
depreciation based on?

(a) The straight - line depreciation method?

(b) The double - declining - balance method?

(c) The sum _of _ the - years’_ digits method?

Exercise 3 -

A machine was purchased for $28,000 and had an estimated scrap value of $4,000.

What would the year _ end entry be if the units - of _ production method was used, and it
had an estimated life of 32,000 hours? In the first year of operation, it used 7,200 hours
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